



Example: (a) $(x) = \int 0$, $x \neq 0$

ple: (a)
$$f(x) = \begin{cases} 0 & i & x \neq 0 \\ 1 & i & x = 0 \end{cases}$$

$$\begin{cases} \lim_{X \to 0} f(x) = 0 \neq 1 = f(0) \end{cases}$$
(b)
$$f(x) = a_{m} \cdot x^{m} + a_{m-i} \cdot x^{m-1} + \dots + a_{1} \cdot x^{1} + a_{0} \quad (f: \mathbb{R} \to \mathbb{R}) \end{cases}$$
For $x_{0} \in \mathbb{R}$ take $(X_{n})_{n \in \mathbb{N}}$ with $\lim_{n \to \infty} x_{n} = x_{0}$

$$f(x_{n}) = a_{m} \cdot x_{n}^{m} + a_{m-i} \cdot x_{n}^{m-1} + \dots + a_{1} \cdot x_{n}^{1} + a_{0}$$

$$(\lim_{n \to \infty} x_{n} - x_{0}^{m} + a_{m-i} \cdot x_{0}^{m-1} + \dots + a_{1} \cdot x_{0}^{1} + a_{0} = f(x_{0})$$

$$\Rightarrow \lim_{X \to x_{0}} f(x) = f(x_{0})$$